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APPENDIX I 
The Result of Try-out Test 

{THE KOON LANDI~ 

----·------------~-----~---------·---------------·--------
StJBJECT ITEM :TOTAL: 
NUMBER :----------------------------------------;SCQRE; 

I 1 2 3 4 5 6 7 a 9 10 I 
i I 

---~-----------------------------------·----------~-----~ I I 

1 1 1 1 1 0 I I 9 I 
I ~ I I 

2 ! 0 1 1 (\ (I 0 1 0 I 5 I 

' ' ' 
3 l (\ 1 0 1 0 1 0 1 1 1 l b I 

' ' l 

4 I 1 1 1 1 1 1 1 1 0 I 9 l 

' ' ' 
5 I 1 0 1 0 1 0 1 I 7 : 

' ' ' 
6 I 0 0 " " (l ~ I 4 I 

' 
, .. ·~I 

' I 

7 I 1 0 0 1 0 1 0 I' ' 5 ' I ,. I I 

a I 1 0 1 1 1 1 0 l I a I 

' ' I 

q I 1 0 0 1 0 1 I 7 I 

' I ' 
10 I 0 1 (l (\ 1 0 1 0 1 I ~ I 

i ' ·' 
11 I 0 1 0 0 0 (l 0 1 1 0 I "! I 

I I J I 

I 1 I 0 0 1 0 1 0 0 1 I s I 
~L I I ' 
13 ! 0 0 1 1 0 (l 0 (\ 0 0 I , ! 

I I .. I 

14 I (\ 0 1· (\ 1 1 1 1 0 0 I 5 I 
I I I 

15 I 0 1 1 (\ 0 1 0 1 1 1 ! 6 I 
I ' I 

16 I 0 0 1 1 0 1 1 0 1 1 I 6 ! 

' I I 

17 I 0 1 1 0 0 1 0 0 0 0 I 3 I 
I I I 

13 I 0 1 1 1 1 1 (\ 1 I 8 : ' ' 
19 I 0 0 0 0 1 (\ (I 1 1 : 4 I 

! ' i 

20 I (\ 0 0 1 1 0 1 0 ! 5 I 
I I I 

21 I 0 1 1 1 1 1 1 0 I e : 

' ' I 

22 I 1 1 1 1 1 (l 1 (l I I a I 
I • I I , .. I 0 1 1 1 1 1 1 1 1 : 9 I 

L-' I I I 

24 I r· 1 0 1 0 0 0 I : 5 : 
I ,I • I ' 

25 : (\ 0 0 0 0 1 (• 1 i 4 ' 
' •' ' I ,. I 0 0 1 0 1 (\ 1 0 0 ! 4 40 I I 

27 I 0 1 1 1 1 . 0 1 I I 3 ! 

' • ' I 

29 I 1 1 0 0 1 1 1 0 0 l 6 I 

' I I 

29 ! 1 0 1 1 1 0 1 1 1 I a I 
I I I 

30 I 0 1 0 1 0 0 I) 0 (\ I ;;. ' I I I 

31 I 1 1 1 1 0 0 1 1 1 1 I a l 
I I I 

32 I 0 0 1 1 0 1 0 1 (\ 1 I 5 I 
I I I 

---------------------------------------------------------



62 

APPENDIX Il 
CALCULATION OF DiSCRIIIAHATION POWER AND DIFFICULTY INDEX Of try-out test 

(THE MOON LANDING l 

-----------------------------------------------------------------------------
SUBJECT 
NUIIBER -----------~----------------------------------------' TOTAL I 

I I 

1 2 
.., 4 5 6 7 s 9 1(1 I SCORE ,I I I 

------------- ----------------------------------------------------·-------' I I 

4 I 1 1 I 1 I 1 1 l 0 I 9 I 
I I 

u 1 1 1 1 1 1 1 1 1 0 1 I 9 I I 

p 23 (I 1 1 1 1 1 1 1 1 1 I 9 I 
I I 

p 31 1 1 1 1 0 0 1 1 1 1 I 8 I 
I I I 

E 27 1 0 1 1 1 0 1 1 I 8 I 
I I 

R 29 1 (I 1 1 Q 1 1 I 8 I 
I I 

22 1 1 1 0 0 1 : 8 I 
I I 

G 8 1 0 1 1 1 0 1 1 I 8 I 
I I 

R 21 0 1 1 1 1 1 0 ! 8 I 
I I 

(J 18 1 0 1 1 1 0 1 I 8 ' I I 

u 5 1 0 1 1 0 1 1 0 1 I 7 I I 

:> q 1 1 0 0 1 1 0 1 1 I 7 ! 
I I I 

16 0 0 1 1 (I 1 . 1 0 1 I 6 I 
I I 

28 I 1 1 1 0 0 1 1 1 0 0 I 6 ' I I I 

" I 0 1 0 0 0 1 1 I 6 I 

·' I I I 

15 0 1 0 0 0 1 ' 6 I 
I I 

--------------------------------------------------------------------'-------' I I 

CORRECT 11 10 14 13 10 14 10 14 12 13 I 
I 

ANSWER (Ul 
-----------------------------------------------------------------~-'-------~ I I 

24 1 0 1 0 1 1 0 0 0 1 I 5 I 
I I 

32 0 0 1 1 0 1 0 1 0 1 I 5 I 
I I 

L 14 0 0 1 0 1 1 1 1 0 0 I 5 I 
I I 

0 i 1 0 0 1 0 1 0 1 0 I 5 I 
I I 

w 12 1 0 0 1 0 1 1 0 ,o 1 I 5 I 
I I 

E 2 1 0 1 1 0 0 0 1 1 0 I 5 I 
I I 

R 20 1 0 0 0 1 1 0 1 0 ! s I 
I I 

10 0 1 0 0 0 1 (\ 1 ! 5 I .... I I 

19 0 0 0 1 0 1 0 0 1 ! 4 I 
I I 

G 25 0 0 0 0 0 0 1 I 4 I 
I I 

R 26 0 0 0 1 0 1 0 0 ' 4 I 

' ! 

0 6 0 0 1 0 0 (i 0 ' 4 I 
I I 

u 11 0 1 0 0 0 0 0 0 : 3 I 
! ! 

p 17 0 1 1 0 0 1 0 0 0 0 ! 3 I 
I I 

30 I 0 1 0 1 0 0 0 (l 0 I ., 
I I 

_, 
I 

u I 0 0 1 1 0 0 i) 0 0 ·0 ! '1 ' I I L i 

---------------------------------~----------------------------------~-------
I 

I I 

CORRECT 5 5 8 8 5 10 4 iO 6 6 I 
I 

ANSWER (ll ____________________________________________________________________ : _______ ; 

I I 

DP = I 0.38 o. 31 0.38 0.31 0.31 0.25 0.38 A .,. 0.39 0.44 I 
I v .... :l I 

( U-L )IN 
lnterp. I Sa.t. Sa.t. Sa.t. Sat. Sa.t. Sat. Sat. Sat. ·;at. Good l 

I I ___________________________________________________________________ , _______ : 
I I 

CORRECTLY( C) lb 15 22 21 15 24 14 24 18 19 : 
I 

DI=C!TOTAL I (1.5 0.46 0.687 0.656 0.46 0.75 0.43 0.75 0.5b 0.59 I 

I I 

lnterp. I llod. llod. llod. ·llod. llod. Easy Mod. Easy riod. llod. I 

I I 

----------------------------------------------------------------------------



Criterion of Descri1ation Power 

0.00 - 0.20 : Poor 
0.20 - 0.40 : Satisfactory 
0.40- 0.70 : Good 
0.70 - 1.00 : E~cellent 

Criterion of Difficulty Index 

0.00 - 0.30 : Difficult 
0.30 - 0.70 : Moderate 
0.70- 1.00 : Easy 
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APPENDIX III 

CALCULATION FOR RELIABILITY KR-21 

NO. : X X2 ! NO. ! xz : 

1 I 9 81 I 20 I 5 25 I 
I I I I 

2 I 5 25 I 21 I 8 64 ' I I I I 

3 I 6 36 I 22 I a 64 I 
I I I I 

4 I 9 a1 I 23 I 9 a1 I I I I 

5 I i 49 I 24 I 5 25 I 
I I I I 

b I 4 16 I 25 I 4 16 I 
I I I I 

7 I 5 25 : 26 I 4 16 I 
I I I 

a I a 64 I 27 I 8 64 I 
I I I I 

9 I i 49 I 2a I 6 36 I 
I I I I 

10 5 25 I 29 I 8 64 I 
I I I 

11 I 3 9 I 30 I 3 9 I 
I I I I 

12 I 5 25 I 31 I a 64 I 
I I I I 

13 I 2 4 I 32 I 5 25 : .. • I I 

14 I 5 25 :----~----------------------I 

15 I 6 36 I TOTAL I 1aa 1228 I I I 

16 I b 36 I n I .,.., 
I I I 

_, .. 
17 I .,. 9 I !'lEAN I 5.875 I 

_, 
I I 

18 ' 8 64 I VAR. I 3.95937 I I I 

19 I 4 16 '---------------------------I I 

{ X 

1'1 = = 5.875 
n 

{F - { {X )2 /n 
v = = 3.839375 

n 

I' -' - 10 

K 11{K-I'Il 
r = ( 1 - ------------ = 0.413405 l 

K-1 KV 

Where: r = Reliabillity 
n = Nueber of subjects 
M = Mean 
V = Variance 
K = Nuaber of iterts 

r tabie = 0.349 

Because r greater than r table, so the test is 
reliable. 

t) Soeharsimi Arikunto, DASAR-DASAR EVALUASI PENDit·IKAN, 
PT Buti Aksara, Jakarta, 1990, h.98 
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APPENDIX IV 

CALCULATIONS OF EMPIRICAL VALIDITY, r PRODUCT MOMENTll 
(THE MOON LANDING l 

------------------------------------------------------
: TRY 0 SUS-SUM 

No. X y X: V2 XY 
------------------------------------------------------

9 90 81 8100 810 
2 5 70 25 4900 350 
7 _, 6 73 36 5329 438 
4 9 n 81 84b4 828 
5 7 75 49 5b25 525 
b 4 66 16 4356 264 
7 5 69 25 4761 345 
8 8 81 64 6561 648 
9 7 76 49 5776 532 

10 5 70 25 4900 350 
11 3 52 9 2704 156 
12 5 70 25 4900 350 
13 2 50 4 2500 100 
14 5 70 25 4900 350 
15 6 74 36 5476 444 
16 6 72 36 5184 432 
17 . 55 9 3025 165 ~ 

18 8 77 64 5929 61b 
19 4 57 16 3249 ·228 
20 5 70 25 4900 350 
21 s 83 64 6889 b64 
"!') 
44 8 79 64 6241 032 
23 9 86 81 7396 m 
24 5 67 25 4489 335 
25 4 58 16 3564 232 
26 4 eo 16 3600 240 
'l~ 
J.l 8 79 64 6241 632 
28 6 73 36 5329 438 
29 a 81 64 6561 648 
30 3 54 9 2916 162 
31 a 78 64 6084 624 
7') 
,IJ. 5 69 25 4761 345 

------------------------------------------------------
TOTAL I 188 2276 1228 165410 14007 I 

n = ,.., 
,)J. 

------------------------------------------------------
X = SCORE OF TRY OUT 
y = SCORE OF SUS-SUMATIVE JEST 



n(xy - (x,(y 
1; r = --------------------------- = 0.963 

I 
V [n{x2-((x)2][n{yz-({y)2] 

2. 5% significance level, n = 32, r table = 0.349 

3. CONCLUSION : 
Since /r calculation 0.962554 > r table, then there 
is significant correlation betNeen X andY. 
So, test is valid. 

t) Suharsiai Arikunto, DR, Dasar·dasar Evaluasi 
Pendidikan Buai Aksara, Jakarta, 1987 1 p. 65. 
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APPENDIX v 

The· Result of Try-out Test 

(TUO !!ANY PEAPLE I!EANS TOO KUCH PROBLEM ) 

-·--------------------------------------------------------
SU5JECT IiEf'l :TOTAi. 
NUMBER :----------------------------------------:SCORE ' I 

I 1 2 3 4 5 6 7 8 9 10 I 
I I __________________________________________________ , ______ ! 

I I 

1 I 0 1 0 1 I q ' I I " I , . 0 1 1 0 0 0 1 0 . 0 ' L I I .. I 

3 ·: 1 1 1 0 1 1 0 0 . 7 : 
I I 

4 I 1 1 1 1 0 1 1 1 ' I 't I 
I • I I 

5 I (I (l 1 1 1 (I (I 6 ' 
' I I 

·.~ ' 0 0 I) •) 1 0 1 0 1 ' 
4 

' 
/ ' (I 0 0 1 1 0 1 0 1 ' 5 ' 

' ' ' 
8 ' 1 0 (I 1 1 1 1 1 0 1 I 7 ! 

I I I 

9 I 0 0 1 1 1 1 0 1 0 1 I 6 ' 
' I I 

10 I 0 0 0 1 0 1 0 0 1 (l ' " ' I I .,) I 

11 ! 0 0 1 0 1 0 1 0 1 0 I 4 I 
I t I 

12 I 0 0 1 1 1 0 1 1 I 7 : 
I I I 

13 ' 0 1 0 1 0 0 0 0 0 ' - : 
I t ,) I 

14 I 0 1 1 1 1 1 1 0 I a ' I I I 

15 ! 1 0 1 1 1 1 0 0 (I 1 I 6 I 
I I I 

lb I 1 1 0 1 0 0 1 (l 0 1 I <. ! 
I t •' ' 

1i I 1 0 1 0 1 0 0 0 0 0 I 3 ' t t I 

lS ' 0 1 1 1 1 0 1 1 1 I s ' I I I 

19 I 1 1 0 1 (l 0 1 1 0 I b I 
I I ! 

20 I 1 1 0 0 0 1 0 1 0 I < i 
I I ,I I 

..,j I 1 1 (l 1 1 1 1 1 1 I 9 ! 
L• I I I ,, I 1 0 1 1 0 1 1 1 I 8 : 
LL I I I 

~· I 1 1 1 1 1 1 1 1 0 I 9 ! 

"~ ' I ' 
24 ' 1 0 0 1 1 0 1 1 I 7 ' 

' I ' 
25 I 0 1 0 0 1 0 1 (l 1 I ~ ' I I " I 

26 I 0 0 0 0 1 0 0 1 ; 4 I 
t I ' 

'i~ ' 1 0 1 0 1 1 0 1 I 1 ' .(.! ' I I I 

23 I 0 1 1 0 1 0 1 1 1 I 7 ' 
I I I 

29 I 1 1 1 1 1 1 0 1 I 9 I 
I I I 

30 I (l 0 0 1 0 0 0 1 I) ! " I 
I t ·' I 

"t I 1 1 t 1 1 (l 1 0 1 8 ! 
·.'.l. I l. I I 

32 I 0 0 1 0 1 1 l 7 I 

I I I 

----------------------------------------------------------
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APPENDIX VI 
CALCULATION OF DISCRIMANATION POWER AND DI~ICULTY iNDEX of try-out test 

( TOO MANY PEAPLE MEANS TOO MUCH PROBLEM I 
' 

-------------------------------------------------------------------------------
SUBJECT 
NUMBER I 

---------------------~------------------------------· TOTAL I 
I I I 

1 2 3 4 5 6 7 8 1 10 I SCORE I 
I I 

------------- I ----------------------------------------------------' -------· I ' I 

.,~ 1 1 1 1 0 I q I ... I ' 
u ~9 1 1 1 1 1 1 1 1 (I 1 I 9 I 

' ' 
p 21 I 1 1 0 1 1 1 1 1 1 1 I 9 I 

I I I 

p 4 I 1 1 1 1 1 0 1 1 1 1 I 9 I 
I I I 

E 18 0 1 1 1 1 1 0 1 1 1 I 8 I 
I I 

R 1 1 0 1 1 1 1 0 1 1 1 I a I 
I I 

31 1 1 1 1 1 0 1 0 1 1 I 8 I 
I I 

6 22 1 0 1 1 1 0 1 1 1 I a I 
I I 

R 14 0 1 1 1 1 1 1 1 0 I 8 I 
I I 

0 a 1 0 0 1 1 1 1 1 (I 1 7 ! 
I I 

u 27 1 0 1 0 1 1 1 I' 1 : 7 I 
\.' I I 

p 24 1 1 0 0 1 1 0 1 1 I 7 I 
I I 

12 0 0 1 1 1 1 1 0 1 I 7 I 
I I 

3 1 1 1 1 0 1 1 1 0 0 I 7 I 
I I 

28 0 1 1 1 0 1 0 1 1 I 7 I 
I I .,.., 

0 1 1 0 0 1 I 7 I 
·~\4 I I 

---------------------~----------------------------------------------' ----~·-- j I I 

CORRECT 11 11 13 14 13 14 10 14 ~ -, 13 I ... I 

ANSWER (U) 

-------------------------------------------------------------------' I 
15 1 0 1 1 1 1 (i 0 0 1 : b I 

I 

9 0 0 1 1 1 1 0 1 0 1 I 6 I 
I I 

L 5 0 1 1 0 1 1 1 1 0 0 I 6 I 
I I 

0 19 1 1 0 1 0 1 0 1 1 0 I 6 I 
I I 

II 16 1 1 0 1 0 0 1 0 0 1 I 5 I 
I I 

E 2 1 0 1 1 1 0 0 0 0 I 5 I 
I I 

R 20 1 1 0. 0 0 1 0 1 0 ! 5 I 
I I 

25 0 1 0 0 1 0 1 0 1 I 5 I 

• I I 

'7 0 0 0 1 1 0 1 0 1 I 5 I 
I I I 

s 26 0 0 0 0 1 0 1 (l 1 I 4 I 
I I 

R 11 0 0 1 0 1 0 1 0 1 0 ! 4 I . . 
0 6 0 0 0 1 0 1 0 1 0 1 I 4 I 

I I 

u 30 0 0 0 1 0 0 0 1 1 0 I 3 I 
I I 

F 17 1 0 1 0 1 0 0 0 0 0 I 3 I 
I I 

13 0 1 0 1 0 0 1 0 0 0 I .. I 
I ,) I 

10 (I 0 (1 0 0 {J 0 ; 3 ' I . 
------·-------------------------------------------------------------' 

______ .,..1 

I I 

CORRECT b 6 i 10 a 6 6 i a 7 • 
ANSWER (l) 
~-------------------------------------------------------------------! I 

DP = I 0.31 0.31 0.38 0.2:1 0.31 0.38 0.25 0.44 0.25 0.38 ! 
I . 

(U-Ll /N 
Interp. I Sat. Sat. Sat. Sat. Sat. Sat. ~ ~ Good SaL Sat. ! 

I ~a •• I 

-------------------------------------------------------------------! 
_______ ! 

I 

CORRECTLY(Cl 17 17 20 24 21 22 16 21 20 20 I . 
DI=C/TOTAL I 0.53 0.53 0.625 0.75 0.65 0.68 0.5 0.65 O.b2 0.62 I 

I I 

Int~rp. I Kod. Mod. Kod. Easy Mod. Mod. i'lod. Hod. Mod. Mod. I 

I I 

------------------------------------------------------------------------------



Criterion of Descri.aUon Power 

0.00 · 0.20 : Poor 
0.20 · 0.40 : Satisfactory 
0.40 - 0.70 : Good 
0.70 - 1.00 : Excellent 

Criterion of Difficulty Index 

0.00 - 0.30 : Difficult 
0.30 - 0.70 : Moderate 
0.70 - 1.00 : Easy 
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APPENDIX VII 
CALCULATION FOR RELIABILITY KR-21 

NO. : F: NO. : Y. 2 ' 
' I 

1 I 8 64 I 20 I 5 25 I 
I I I I 

2 I • 25 I 21 I 9 81 I 
I •' I I I 

3 I 7 49 I 'i'1 : 8 64 : 
I I ...... I ' 

4 I 9 81 I .,~ I 9 81 I 
I I ... :J I I 

5 l 6 36 I 24 I "7 49 ! 
I I I 1 l 

6 ' 4 16 I 25 : • 2:1 l 
I I ,I I 

7 l 5 25 l 26 l 4 16 I 
I I I I 

8 I 7 49 I 27 I 7 49 I 
I I I I 

9 6 36 I 28 I 7 49 I 
I I I 

10 ~ 9 I 29 I 9 81 I 

·' I I I 

11 4 16 I 30 I 3 9 I I 

12 7 49 I 31 I 8 64 I 
I I I 

13 ~ 9 I ~., I 7 49 I 
-~ I :J ... I \ 

14 I 8 64 ·---------------------------I I 

15 ' 6 36 I TOTAL I 198 1340 I I I 

16 I • 25 I n I 32 ! ,I I I 

17 ! ;o 9 I !'lEAN I 6.1875 I ! I 

18 I 8 64 I VAR. I 3.58984 I I I 

19 I b 36 !---------------------------I 

{ X 

1'1 = = 6.1875 
n 

(X 2 - ( {X )2 /n 
v = = 3.599843 

n 

i: = l(i 

KR-21 FORMULA :t) 

K M ( K - 1'1 l 
r = I 1 - ------------ = 0.380969 t 

K -1 KV 

WhH~: r = Reliabillity 
n = Nuther of subjects 
M = 11ean 
1/ = Variance 
K = Nuaber of items 

r table = 0.349 

Because r greater than r tabl~, so the test is 
reliable. 

t\ Soeharsiai Arii:unto 1 iJASAR-DASAR EVALUASi PENDiDIKAN, 
PT Bumi Aksara, Jakarta, 1990, h.98 
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APPENDIX VIII 

CALCLILAT!ONS OF EMPIRICAL VALIDITY, r PRODUCT MOMENTll 
( TOO MANY PEAPLE MEANS TOO MUCH PROBLEM l 

------------------------------------------------------
' TRY 0 SLIB-SUM I 

No. X y rz V2 XY 

--------------------------------------------------~---

8 90 64 8100 720 
'1 5 70 L 

,. ..... 4900 350 
"' 7 73 49 5329 511 ~ 

4 9 92 81 8464 828 
5 6 '!C 

'•' 36 5625 450 
6 4 66 16~ 43~·6 264 
7 5 69 ,. 

L ,I 4761 345 
8 7 81 49 6561 567 
9 6 i6 36 5776 456 

10 ,\ 70 9 4900 210 
11 4 "" ..... 16 2704 208 
12 7 70 49 4900 '490 
13 "' •' 50 9 2500 150 
14 8 70 64 4900 560 
15 6 74 36 5476 444 
16 5 72 ,. 

.... 1 ~~184 360 
17 3 55 9 3025 165 
18 8 77 64 ~~929 616 
19 6 Si 36 3249 342 
2(t 5 70 ')C 

4-1 4900 350 
21 9 83 81 6889 747 
'1'1 8 ~Q 64 6241 632 L.l. /, 

'1"' 
L~· 9 86 81 7396 774 
24 7 67 49 4489 469 
25 5 58 25 3364 290 
26 4 60 16 3600 240 
27 7 79 49 6241 553 
28 7 73 49 5329 511 
29 9 81 81 6561 729 
30 3 54 9 2116 162 
~~ 
~. 8 78 b4 6084 624 
32 7 69 49 4761 483 

------------------------------------------------------
TOiAL I 198 2276 1340 165410 14600 I 

n = "1'1 
··''-

------------------------------------------------------
X = SCORE OF TRY OUT 
y = SCORE DF SUB-SUMATIVE TEST 



n(r.y - (x.(y 
1. r = --------------------------- = 0.912 

I 
V [n(xZ-((x}Z][n(yZ-((y)Z] 

2. 5% significance level, n = ~2, r table = 0.~49 

3. CONCLUSION : 
Since /r calculation 0.812327 } r table, then there 
is significant correlation between X and Y. 
So, test is valid. 

ll Suharsiai Arikunto, DR, Dasar-dasar Evaluasi 
Pendidikan Buai Aksara, Jakarta, 1987, p. bS. 
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APPENDIX IX 

CALCULATION FOR TWO MEANS TEST 
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APPENDIX X 

TESTS OF HYPOTHESES 

.1.. Ho mA = mB, there is no difference between 
q1r·our.:.s. 

He:< mA > mB, mean score of A group is 
D q ~~nup. 

2. t-test, where df. - nA + nB 
t(0.05) - 1.671 

~2: ····· 

3. Calculation for t observation (to) 

A : PRE READING ACTIVITIES 

n 

/ n { >~ :.:.:: ~··· ( { >{ ) ~i;'! 

::;. ::::: l .. ) 

n (n·-1.) 

B : CONVENTIONAL TECHNIQUE 

{ .... 
>: :::: :."··=_;> •. fJ/J.:::::7'5 

n 

/ 

/ n { ;.: 2 __ ( { ;.~ ) ~·i:~ 

s - v -------------- - 13.01391 
n (n--.1.) 

.:_.._\,,::: 

n ,,,,, 

f"l ::::: 

to - --------------------------- '' '' Oo '''" ooooo oOHO 0~0• On•O nO • ' '''' ooooo ::::: 

_,l 

I (nA-l)s 2 A + (n8-1)s 2 B 1. 

I ------------------------( 

:::,. CONCL..US I 01'-! 

74 

,..... :::: ..... , •l 
.• :: ... ,.) .• :: . .. t 

Because I t observation I - 2.521202 > t(0.05) 
so Ho is rejected. 
Hence we conclude that the diffrence between groups 
is significant, and that the A group is greater. 
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.t 
'''.l I 
.:: .. I 

1::: 
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10 
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APPENDIX XI 

CALCULATION FOR TWO MEANS fEST 
( Pfl~:;:::;(.~(3E I I ) 

77' 
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E{(l 

'?::::; 
''7'') 
I .1 •. , 

70 
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"'1"7 ' .. 
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37 
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!'.'\ J. 
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/ '···' 
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HO 
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· .. :• .. ::. 

'?() .. :1. 

2f.:)OJ 
~:_:_:{9:2(:~ 

6400 

(:;)::,:>.•:].J. 

.J..hOO 
"'1 r.:: , C') 
I ,,_tt._\ ") 

lJ .. l(i(i 

El~3:5t_\ 

:~~:l., ()(} 

, ...... , ... 
::.-:c / (:) 

::~::::::.::.~4 

~=.=,()4.1. 

~.:14 ()(i 

.1.h.1.6:::D 

<i .1. 
·;ro 

.,) / 

lj. !'.'.', 

: ·j 
C.• •• t 

.• •••!• 
\:::-.::, 

'! ,.. •• , 
···r· .• ::. 

NEt.~l'-.i 

SD : .1.1.. 7A665 1. 0 . ()/j. .:<::: .:L 

:::::~;::4c;; 

lt)U:L 

::~;:,:?.4(1) 

:·:?b(iJ 
:?.1.16 

:2::::;04 
::':7·:.21 
:::;fjL}L'f 

::~:? :~~ 1 
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·'·!·,,:;,.,::. ~ . .1 

::~;4f:lL 

~:::s>t:) ~:? 

::;/j:]J 
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APPENDIX XII 

TESTS OF HYPOTHESES : 

1. Ho mA = mB~ 
groups. 
mA > roB~ 
B group. 

there is no difference between the 

Ha mean score of A group is 

2. t-test~ where df. = nA + nB - 2 - 62 
t(0.05) = 1.671 

3. Calculation for t observation (to) 

A : PRE READING ACTIVITIES 

\.r " ,., 

n 

/ 
/ n { >: :.?. - ( { >: ) :::.?. 

5 = v -------------- - 11.74665 
n (n-·1) 

B : CONVENTIONAL TECHNIQUE 

{ >: 
>: :::: 

n 

/ 
/ n{>:2 - ( {>: )2 

s ~ v -------------- - 10.04621 
n ( n-1) 

-xA -:-:B 

gn:~ater 

n ::::: 

mean 

than 

to - ---------------------------------------- - 5.936 

---·-·--
/ 

/ (nA-1)s 2 A + (nB-1)s2 B 1 1 
/ ------------------------( + ----

v nA. + nB - 2 nA nB 

3. CONCLUSION 
Because / t observation I - 5.935741 > t(0.05) 
so Ho is rejected. 
Hence we conclude that the diffrence between groups 
is significant, and that the A group is greater. 



APPENDIX XI I I 

POST-TESTl 

The Moon.Landing 

At 9. 50 a.m., West Indonesia, on Monday 21 st July 

1969, the American astronaut, Neil Amstrong, made history 

by becoming the first man to step on the moon. As hundreds 

of millions of people watched and listened from the plan~ 

earth:~240.000 rn?-les away, Amstrong lifted his foot from 

the landing of his spaceship, the "Eagle 11
, and slowly and 

carefully pressed it into the moon's surface. Testing his 

ability to walk in the weak lunar grllvity - one sixth of 

that on the earth, he moved slowly in his spacesuit. 

he found that he could moved easily. With increasing 

confidence, he be.gan to move away from "Eagle". 

He was greatly surprised to look at his foot prints 

in the sort moon sand. He was so ple8sed with the new 

experience that he almost forget about his task of 

collecting a small sample of lunar~~oil, and bad. to be 

reminded about it. He collected the sample and put it into 

a pocket on the left leg of his suit. If he had to leave 

the moon earlier than planned, this sample would be the 

only lunar soil that he brought back to earth. Taking 

a long look at the view around him, Amstrong said, •: 

"It's different, but it's pretty out here 11
• ·Now he was 

safe on the moon. In twenty minutes his friend Edwin 

Aldrin would come out of "Eagle 11 and join him. 
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A list of Vocabulary. 

- Surface (noun) permukaan 

- Lunar (adjective): yang berkai tan dengan bulan 

- Gravity (noun) . gaya tarik • 

- Space suit (noun) pakaian angkasa 

- Confidence (noun) • key~nan, kepercayaan pad a • 

diri sendiri 

- Soil ... ·.~.(noun) • tanah • 

- Reminded (verb) : di peringatkan 

Pre-reading activities. 

Picture + a set or questions 

1. What do you see in this 

picture ? 

2. What kind or suit is it ? 

3. Is it light or heavy ? 

why 1 

4. What do you call a man 

who is wearing that suit? 

5. How do they go to space ? 

Do they go there by plane 

or spacesuit ? 

6. Do you know Neil Amstrong7 

Who was he ? 
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A. Answer these questions correctly based on the passage 

given. 

1. How strong is lunar gravity compared to earth 

gi"avi ty ? 

2. What was Neil Amstrong's task ? 

3. Why did he almost forget to collect a small sample 

of lunar soil ? 

B. Choose the correct answer ! 

1. What does the reading pass~ge talk about ? 

a. The history of the moon 

b. The first space ship landing on the moon 

c. The strength of lunar gravity 

d. The first man stepping on the moon 

2. It is saidthat lunar gravity is one sixth of the 

earth. How are the things on the moon ? 

a. Floating 

b. Falling 

c. Flying 

d. Drowning 

3. The synonym of the word "reminded" is ----------

a. Forgot 

b. Warned 

c • Advised 

.. d. Ordered 

~. What is the "eagle" in the reading ? 
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4. What is the "eagle" in the reading 'l 

a. The name or a bird 

b. The name of a team 

c. The name of the shoes 

d. The name or the space-ship 

5. -----~·--- and had to be reminded about it 

(2nd paragraph 4th line). What does it refers in 

the sentence ? 

a. New experience 

b. Snall sample 

c. His task 

d. Lunar soil 

6. What does "made history" mean ? (2nd line). 

a. Written history 

b. rl'rue story 

c. Something which is recorded 

d. Made a memory 

c. Answer this question correctly with your own words. 

1. Do you think it is possible for human beings 

to life on the moon ? Why '? Explain your answers 



APPENDIX XIV 

The Moon Landing 

At 9. 50 a.m., West Indonesia, on Honday 21 at July 

1969, the American astronaut, Neil Amstrong, made history 

by becoming the first man to step on the moon. As hundreds 

of millions of people watched and listened from the plan~ 

earth:-240.000 m:Lles away, Amstrong lifted his foot from 

the landing of his spaceship, the '·'Eagle", and slowly and 

carefully pressed it into the moon's surface. Testing his 

ability to walk in the weak lunar gravity - one sixth of 

that on the earth, he moved slowly in his spacesuit. 

he found that he could moved easily. With increasing 

confidence, he began to move away from "Eagle". 

He was greatly surprised to look at his foot prints 

in the soft moon sand. He was so pleased with the new 

experience that he almost forget about hie task of 

collecting a small sample of lunar~soil, and had to be 

reminded about it. He collected the sample and put it into 

a pocket on the left leg of his suit. If he had to leave 

the moon earlier than planned, this sample would be the 

only lunar soil that he brought back to earth. Taking 

a long look at the view around him, P.mstrong said, ' 

''It's different, but it's pretty out here". Now he was 

safe on the moon. In twenty minute~ his friend Edwin 

Aldrin would come out of "Eagle" and join him. 
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A list of Vocabulary. 

- Surface (noun) : permukaan 

- Lunar (adjective): yang berkaitan dengan 

bulan 

-Gravity (noun) 

- Space-suit (noun) 

- Confidence (noun) 

- Soil 

- Reminded 

(noun) 

(verb) 

: gaya tarik 

pakaian angkasa 

keyakinan, kepercayaan 

pada diri sendiri 

: tanah 

di peringatkan 
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A. Answer these questions correctly based on the passage 

given. 

1. How strong is lunar gravity compared to earth 

gravity ? 

2. What was Neil Amstrong's ta~k ? 

3. Wby did he almost forget· ·to collect a small sample 

of lunar soil ? 

B. Choose the correct answer ! 

l. What does the reading passage talk about ? 

a. The history of the moon 

b. The first space-ship landing on the moon 

c. The strength of lunar gravity 

d. The·first man stepping on the moon 
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2. It is said that lunar gravity is one sixth of the 

earth. How are the things on tDe moon ? 

a. Floating 

b. Falling 

c. Flying 

d. Drowning 

3. The syno~ym of the word "reminded" is ----- ----

a. Forgot 

b. Warned 

c. Advised 

d. Ordered 

4. What is the "eagle 11 in the reading ? 

a. The name of a bird 

b. The name of a team 

c. The name of the shoes 

d. The name of the space-ship 

5. ------------ and had to be r~minded about it --
(2nd paragraph1· 4th line). What does ~~ refers in 

the sentence ? 

a. New experience 

b. Small sample 

c. His task 

d. Lunar soil 



6. What does "made history" mean ? (2nd line). 

a. Written history 

b. True story 

c. Something which is recorded 

, .d. Made a memory 

c. Answer this question correctly with your own words. 

1. Do you think that it is possible for human beings 

to life on the moon ? Why ? Explain your answers! 
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APPENDIX X.V 

POST-TEST.· 

Too Many. People Means Too Many Problems 

Man bas not lived an easy life. Famine, disease, 

harsh climate, and wars have been his constant enemies. 

Yet, he surv:hres. Through the year he has learned to 

control some of his surroundings and to make use of 

nature. He has even found ways to keep people alive much 

longer than before. 

:. However, as the number odd people increase, so 

man's problems grow. Too many people means too little 

food. Today, at least half of the world's population 

does not have enough food to eat. 

Too many people means that pure water is becoming 

scarce in many areas. Without water people can not live 

or grow crops. People have wasted much water and they bavt 

caused pollution to the rivers and lacks which supply theY 

with the water they need. 

Too many people means too little food, because 

the growth of the population means that people wil.:!."!need 

more .. and more soil to produce food. They will also need 

more and more land on which to build their houses. 

Too many people means the overcrowding of schools 

and hospitals. It also means more unemployment. 

In short, too many people means too many problems. 

Man has to work hard to solve the problrms of overpopula­

tion if be wants to have good food, clothing and housing, 

and good medical care and schools. 
85 



86 

A list ot Vocabulary 

- Climate (noun) • iklim-iklim • 

- Famine (noun) • kekurangan pang an, • 

kelaparan 

- Growth (noun) perturnbuhan 

penambahan 

Overcrowding (noun) • kepadatan • 

- Pure (adjective). • bersih ; a ali • 

... Scarce (adjective) • Hard to get . l.angka . , 
- Surroundings. (noun) • lingkungan • 

/ 

- Survives (verb) • bertahan • 
I 

I 

- Unemployment (noun) • pengangguran • 

Pre-reading activities 

1. Can you mention some natural disasters lately ? 

2. Do those natural disasters cause many victims ? 

3. Can we survive !rom all those nat~ral disasters 1 

4. What do you think about these houses in this 

picture ? and why are they too close to each other? 



A. Answer these questions corretly based on the passage 

given. 

1. What things have made man's life difficult ? 

2. How can man survive in life ? 

3. Why do so people say that too many people means · 

too many problems ? 

B. Choose the correct answer. 

1. What does the reading passage talk about ? 

2. 

a. Life is difficult today 

b. The problems of over population 

c. In order to ba able to survive, man has to 

work hard 

d. Most people do not have food to eat 

Because of over population man has created 

various problems. What are they ? 

a. Lack of food and money 

b. Lack of entertainment and friends 

c. Lack of love and happiness 

d. Lack of food, water, and land 

3. What does this sentence mean ? "Too Many People 

Means 'roo Many Problems" 

a. If there are few people, many problems will 

arise 

b. If there are many people, many problems will 

be solved 
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c. If population is controlled, many problems 

will net arise 

88 

d. If population is not controlled, many problems 

will not arise 

4. Has life been difficult !or man ? 

a. No, it has not because man has no enemies 

b. Yes, it has because man can not control his 

surroundings 

c. Yes, it has because man bas his constant 

enemies 

d. No, it has not because man is a powerful creature 

5. "It" refers to ·---·-· (5th paragraph, 2nd line) 

a. Too many people 

b. Schools 

c. Hospitals 

d. Many problems 

6. Why is pure water becoming scarce in many areas ? 

a. Because there is no rain all years 

··,b. Because man uses too much pure water 

c. Because the dry season last long 

d. Because much water is polluted 

c. Answer this question correctly with your own words. 

l.'.What should the Government do to rnake the village 

people prefer staying in the village than in the· 

city ? 



APPENDIX XVI 

POST..;TEST 

Too Ma~ People Means Too Many Problems 

Man has not lived an easy lite. Famine, disease, 

harsh climate, and wars have been his constant enemies. 

Yet, he survives. Through the year he has learned to 

control some of his surroundings and to make use of 

nature. He has even found ways to keep people alive much 

longer than before. 

However, as the number odd people increase, so 

man's problems grow. Too many people means too little 

food. Today, at.least hal! of the world's population 

does not have enough food to eat. 

Too many people means that pure water is becoming 

scarce in many areas. Without water people can not live 

or grow crops. People have wasted much water and they havt 

caused pollution to the rivers and lacks which supply theY 

with the water they need. 

Too many people means too little food, because 

the growth of the population means that people wiJ..:~;need 

more .. and more soil to produce food. They will also need 

more and more land on which to build their houses. 

Too many people means the overcrowding of schools 

and hospitals. It also means more unemployment. 

In short, too many people means too many problems. 

Man has to work hard to solve the problrms of overpopula­

tion if he wants to have good food, clothing and housing, 

and good medical care and schools. 
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A list of Vocabulary. 

- Climate 

- Famine 

- Growth 

(noun) 

(noun) 

(noun) 

- Overcrowding(noun) 

- Pure (adjective) 

- Scarce (adjective) 

... . surroundings{noun) 

- Survives (verb) 

- Unemployment(noun) 

• • 

• • 

• • 

• . 

90 

iklim-iklim 

kekurangan pang an, 

kelaparan 

pertumbuhan ;penambahan 

kepadatan 

bersih . asli , 

hard to get langka 

lingkungFin 

bertahan 

pengangguran 

A. Answer these questions correctly based on the passage 

gi van. 

l. Vfuat things have made man's life difficult ? 

z. How cam man survive in life ? 

3. Why do so people say that ~oo many people means 

too many problems ? 

· B. Choose the cor~ect answer. 

l. What does the reading passage talk about ? 

a. Life is difficult today 

b. The problems of over population 

c. In order to be able to survive, man has to 

work hard 

d. Host people do not have food to eat 



2. ,·Be.cause of over population man has created 

various problems. What are they ? 

a. Lack of food and money 

b. Lack of entertainment and friends 

c. Lack of love and hapiness 

d. Lack of fo0d, water, and land 

3. What does this sentence mean ? "Too Many People 

Means Too Many Problems" 

a. If there are few people, many problems will 

arise 

b. If there are many people, many problems will 

be solved 

c. If population is controlled, many proble~s 

will not arise 

d. If popuhation is not controlled, many problems 

will not arise 

4. Has life been difficult for man ? 

a. No, it has not because man has no enemies 

b. Yes, it has because man can not control his 

surroundings 

c. Yes, it has because. man has his' constant·.~ 

enemies 

d. No, it has not because man is a powerful 

creature 
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5~ "It" refers to ____ .,. ___ (5th paragraph, 2nd line) 

a. Too many people 

b. Scholls 

c. Hospitals 

d. Many problems 

6. Why is pure water becoming scarce in many areas ? 

a. Because there is no rain all years 

b. Because man uses·· too much pure water 

c. Because the dry season last long 

d. Because much water is polluted 

c. Answer this question correctly with your own words. 

1. What should the Governemnt do to make the village 

people prefer staying in the village than in the 

city ? 
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APPENDIX XVII 

Lesson Plan 

Field of the study . Language • 

Sub-field of the study: English 

Topic • Reading . 
Sub-topic . Reading passage • 

about "The Moon 

Landinc" 

Class • I SMU . , . 
Time • 45 minutes • 

I. General Instructional Objective. 

Students are able to comprehend and interprete the 

content of the reading passage through observation, 

interpretation, and application. 

II. Specific Instructional Objectives. 

1. Students are able to answer three factual ques-

tiona. 

2. Students are able to answer six inferential 

questions. 

3. Students are able to answer one evaluation 

questions. 

III. Material. 

The Moon Landing 

At 9.50 a.m., West Indonesia time, on Monday 
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21 st July 1969, the American astronaut, Neil . ~-· · 

Amstrong, made history by becoming the first man to 

step on the moon. As hundreds or millions or poople 

watched and listened !rom the planet earth 240.000 

miles away; Amstrong lifted his foot !rom the lan -

ding of his spaceship, the "Eagle", and slowly and 

carefully pressed it into the moon's surface. 

Testing his ability to walk in the weak lunar gra -

vity-one sixth of that on the earth, he moved slowly 

in his spacesuit. He found that he could move easily. 

With increasing confidence he began to move away 

!rom "Eagle". 

He was greatly surprised to look at his foot­

prints in the soft moon sand. He was so pleased with 

the new experience that he almost forget about his 

task of collecting a small sample of lunar soil, 

and had to be reminded about it. He collected the 

sample and put it into a pocket on the left leg of 

his suit. If he had to leave the moon earlier than 

planned, this sample would be the only lunar soil 

that he brought back to earth. Taking a long look 

at the view around him, Amstrong said,"It•s diffe­

rent, but it's pretty out here "• Now he was safe on 

the moon. In twenty minutes his friend Edwin Aldrin 

would come out of "Eagle" and join him. 
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A list of Vocabulary. 

- Surface (noun) • permukaan . 
- Lunar (adjective): yang berkaitan dengan bulan 

- Gravity (noun) • gaya tarik . 
- Space suit (noun) pakaian angkasa 

- Confidence (noun) • keyalinan, kepercayaan pad a • 

diri sendiri 

Soil . (noun) • tanah • 

- Reminded (verb) di peringatkan 

Pre-reading activities. 

Picture + a set of questions 

1. What do you see in this 

picture ? 

2. What kind of suit is it ? 

3. Is it light or heavy ? 

why ? 

4. What do you call a man 

who is wearing that suit? 

5. How do they go to space ? 

Do they go there by plane 

or spacesuit ? 

6. Do you know Neil Amstrong7 

Who was he ? 
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IV. Teaching Learning Activities. 

Teacher's activities 

1. Greet the students. 

students' activities 

1. Give response to 

greeting. 

2.. Asks the students to see 2. Give response and make 

the picture then asks some predictions they 

some triggering questions know about the picture. 

about the picture. The 

teacher writes some of 

the predictions on the 

blackboard. 

3. Reads the'· whole passaglf 3. Listen to the teacher. 

once. 

4. Discuss the new diffi- · 4~ Give response to the 

cult words found in the 

passage. 

5. Asks the students to 

read the passage silent~. 

6. Asks the students to do 

the evaluation. 

V. Teaching Aids. 

l. Hand-out 

2. Copied paper 

3. Blackboard 

teacher. 

5. Read the passage 

silently. 

6. Do the evaluation. 



4. Chalk 

VI. Methods. 

1. Discussion 

2. Self :finding 

3. G1 ving tasks 

4. Pre-reading activities 

VII. Schedule. 

1. Discussing a picture with a set of 

questions. 

2. Reading the passage and discuss 

about the new difficult words. 

3. Answering the questions. 

Total 

VIII Reference. 

10 minutes 

.15 minutes 

20 minutes ., .. ____ .. ,..._...., __ 
45 minutes 

Penuntun Pelajaran Bahasa Inggris untuk SMU kelas I 

oleh M, Simatupang and Djmko Kentjono. 

IX. Evaluation. 

a • Factual questions. 

1. How strong is tunar gravity compared to earth 

gravity ? 

2. What was Neil Amstrong's task ? 

3. Why did he almost forget to collect a small 

sample of lunar soil ? 

b • Inferential questions. 

1. What does the reading passage talk about ? 
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a. The hi~tory of the moon 

o. The first space ship landing on the moon 

c. The strength of lunar gravity 

d. The first man stepping on the moon. 

2. It is said that lunar gravity is one sixth of the 

earth. How are the things on the moon ? 

a. Floating 

b. Falling 

c. Flying 

d. Dreowning 

3. The synonym of the word "reminded" is ---------. 

(2nd paragraph 4th line) 

a. Forgot 

b. Warned 

c. Advi.sed 

d. Ordered 

4. What is the "Eagle" in the reading ? 

a. The name of a bird 

b. The name of a team 

c. The name of the shoes 

d. The name of the space ship 

5. ·-------- and had to be reminded about ~~ 

(2nd paragraph 1+ th line). What does it refers in --
the sentence ? 

a. New experience 

b. Small sample 
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e. His task 

d. Lunar soil 

6. What does "made history" mean ? (2nd line) 

a. Written history 

b. True story 

c. Something which is recorded 

d. Made a. memory 

c. Evaluation question • 

1. Do you think that it is possible for human beings 

to life on the moon ? Why ? Explain your answer ! 



APPENDIX X.VIII 

Lesson Plan 

Field of the study . Language • 

Sub-field of the study: English 

. Topic • Reading • 

Sub ... topic . Reading passage • 

about "The Moon 

Landing" 

Class • I SMU .. . 
Time • 45 minutes • 

I. General Instructional Objective. 

Students are able to comprehend and interprete the 

content of the reading passage through observation, 

interpretation, and application. 

II. Specific Instructional Objectives. 

1. Students are able to answer three factual ques· 

tiona. 

2. Students are able to answer s!x inferential 

questions. 

3. Students are able to answer one evaluation 

questions. 

III. Material. 

The Moon Landing 

At 9.50 a.m., West Indonesia time, on Monday 
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21 st July 1969, the American astronaut, Neil 

Amstrong, made history by becoming the first man to 

step on the moon. As hundreds of millions of people 

watched and listened !rom the planet earth 240.000 

miles away, Amstrong lifted his foot from the lan -

ding o! his spaceship, the "Eagle", and slowly and 

carefully pressed it into the moon's surface. 

Testing his ability to walk in the weak lunar gra -

vity-one sixth of that on the earth, he moved slowly 

in his spacesuit. He found that he could move easily. 

With increasing confidence he began to move away 

from "Eagle". 

He was greatly surprised·to look at his foot­

prints in the so!t moon sand. He was so pleased with 

the new experience that he almost forget about his 

task o! collecting a small sample of lunar soil, 

and had to be reminded about it. He collected the 

sample and put it into a pocket on the left leg o! 

his suit. I! he had to leave the moon earlier than 

planned, this sample would be the only lunar soil 

that he brought back to earth. Taking a long look 

at the view around him, Amstrong said,"It•s diffe­

rent, but it's pretty out here "• Now he was sate on 

the moon. In twenty minutes his friend Edwin Aldrin 

would come out of "Eagle" and join him. 
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A list of Vocabulary. 

- Surface (noun) • permukaan • 

- Lunar (adjective) • yang berkai tan dengan bulan • 

- Gravity (noun) • gaya tarik . 
- Space suit (noun) pakaian angka.sa 

- Confidence (noun) • keyakina.n, kepercaypan pada • 

diri sendiri 

- Soil (noun) • tanah . 
- Reminded (verb) • di peringatkan • 

IV. Teaching Learning Activities. 

Teacher's activities 

1. Greet the students. 

2. Reads the whole passage 

once. 

3· Discuss the new difficult 

words found in the passage. 

4. Asks students to read the 

passage silently. 

5. Asks students to do the 

evaluation. 

Students• activities 

1. Give response to 

greeting. 

2. Look at their text­

book and listen to 

the teacher. 

3. Give response to the 

teacher. 

4. Read the passage 

. silently. 

5. Do the evaluation 



V • Teaching Aids. 

1. Hand out 

2. Copied paper 

3. Blackboard 

4. Chalk 

'..VI .• _Methods.· 

1. Discussion 

2. Self finding 

3. Giving tasks 

VII • Schedule. 

1. Reading the passage 

2. Discussing a list of Vocabulary 

3. Answering the questions 

Total 

VIII. Reference. 
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15 minutes 

10 minuter 

20 minutes ........ _ .. ____ ... 

45 minutes 

Penuntun Pelajaran Bahasa Inggris untuk SMU kelas I 

oleh M.Simatupang and Djoko Kentjono. 

IX • Evalilation. 

a • ··Factual questions. 

1. How strong is lunar gravity compared to earth 

gravity ? 

2. What was Neil. Amstrong's task ? 

3. Why did he almost forget to collect a small 

sample of lunar soil ? 



b. Inferential questions • 

. 1. What does the reading passage talk about ? 

a. The history of the moon 

b. The first space ship landing on the moon 

c. The strength of lunar gravity 

d. The .first man stepping on the moon 

2. It is said that lunar gravity is one sixth of the 

earth. How are the things on the moon ? 

a. Floating 

b. Falling 

c. Flying 

d. Drowning 

3. The synonym of the word •}reminded" is ------ -

(2nd paragraph 4th line). 

a•. Forgot 

b. Warned 

c. Advised 

d. Ordered 

4. What is the "eagle" in the reading ? 

a. The name ot a bird 

b. The name of a team 

c. The name of the shoes 

d. The name of the space ship 

5. ---------- and had to be reminded about it 

(2nd paragraph 4th line). What does it refers in --. . 
the sentence ? 

104 



105 

a. New experience 

b. Small sample 

c. Hie task 

d. Lunar soil 

6. What does "made history" mean, ? (2nd line). 

a. Written history 

b. True story 

c. Something which is recorded 

d. Made a memory 

c. Evaluation question. 

1. Do you think that it is possible for human beings 

to li.fe on the moon ? Why ? Explain your answers! 



APPENDIX. XIX 

Leason Plan 

Field of the study • Language • 

Sub·field o! the Study • English • 

Topic • Reading • 

Sub-topic . Reading passage • 

about "Too Many 

People Means Tbo 

Many Problems" 

Class • I SHU . 
Time • 45 minutes • 

I. General Instructional Objective. 

Students are able to comprehend and interprete the 

content o! the reading passage through observation, 

interpretation, and application. 

II. Specific Instructional. Objectives. 

1. Students are able to answer three factual 

questions. 

2. Students are able to answer six inferential 

questions. 

3. Students are able to answer one evaluation 

questions. 
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III. Material. 

Too Man; People Means Too Many Problems 

Man has not lived an easy lite. Famine, disease, 

harsh climate, and wars have been his constant enemies. 

Yet, he surv:lYes. Through the year he has learned to 

control some or his surroundings and to make use of 
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nature. He has even found ways to keep people alive much 

longer than before. 

:. However, as the number odd people increase, so 

man's problems grow. Too many people means too little 

rood. Today, at least half of the world's population 

does not have enough rood to eat. 

Too many people means that pure water is becoming 

scarce in many areas. Without water people can not live 

or grow crops. People have wasted much water and they havt 

caused pollution to the rivers and lacks which supply theY 

with the water they need. 

Too many people means too little rood, because 

the growth of the population means that people wi~~need 

more .. and more soil to produce food. They will also need 

more and more land on which to build their houses. 

Too many people means the overcrowding of schools 

and hospitals. It also means more.unemployment. 

In short, too many people means too many problems. 

Man has to work hard to solve the problrms or overpopula­

tion if he wants to have good rood, clothing and housing, 

and good medical care and schools. 
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A list o! Vocabulary 

- Climate (noun) • iklim-iklim • 

- Famine (noun) kekurangan pang an, 

kelaparan 

- Growth (noun) • pertumbuhan . 
penambahan 

Overcrowding (noun) • kepadatan • 

- Pure {adjective) • bersih ; asli • 

- Scarce (adjective) • Hard to get . langka • t 

- Surroundings (noun) • lingkungan • 

- Survives ( ~erb) • bertahan • 

- Unemployntent (noun) • pengangguran • 

Pre-reading activities 

1. Can you mention some natural disasters lately ? 

2. Do those natural disasters cause many victims ? 

3. Can we survive !rom all those na~ural disasters ? 

4. What do you think about these houses in this 

picture ? and why are they too close to each other? 
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IV. Teaching Learning Activities. 

Teacher's activities Students' activities 

1. Greet students. 1. Give response to 

greeting. 

2. Asks students to see the 

picture then ~t some 

triggering questions about 

the picture. The teacher 

2. Give response and make 

some predic tiona they 

know about the pict,ure. 

writes some of the predic-

tions on the blackboard. 

3. Reads the whole passage ·,3. Listen to the teacher. 

once. 

4. Discusses the new difficut~ ~· Give response to 

words found in the passage teacher. 

5. Asks students to read the 5~ Read the passage 

passage silently. 

6. Asks students to do the 

evaluation. 

V. Teaching Aids. 

1. Rand out 

2. Copied paper 

3. Blackboard 

4. Chalk 

silently. 

6. Do the evaluation. 



VI • Methods. 

1. Discussion 

2. Self finding 

3. Giving tasks 

4. Pre-reading activities 

VII • Schedule. 

1. Discussing the picture with a set 

of pre-questions 

2. Reading the passage and ~scusses 

about new difficult words. 

3. Answering questions. 

10 minutes 

15 minutes 

20 minutes 
~..- ... -.......... .. 

Total 45 minutes 

VIII • Reference. 
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Penuntun Pelajaran Bahasa Inggris untuk SMU kelas 

oleh-JH. Simatupang and Djoko Kentjono. 

IX • Evaluation. 

a • Factual questions. 

l. What things have made man's lif'e difficult 

i.2. How can man survive in life ? 

3. Why do some people say that too many people 

means too many problems ? 

b • Inferential questions. 

1. What does the reading passage talk about ? 

a. Life is difficult today 

? . 



b. The problems of over population 

e. In order to be able to survive, man bas to work 

hard 

d. Most people do not have food to eat 
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2. Because of over population man has created various 

problems. What are they ? 

a. Lack of food and money 

b. Lack of entertainment and friends 

c. Lack of love and happiness 

d. Lack of food, water, and land 

3. What does this sentence mean ? "Too Many People 

Means Too Many Problems" 

a. If there are few people, many problems will arise 

b. If there are many people, many problems will be 

solved 

c. If population is controlled, many problems will no 

arise 

d. If population is not controlled, many problems 

will not arise 

4. Has life been difficult for man ? 

a. No, it has not because man has no enemies 

b. Yes, it has because man can not control his 

surroundings 

c. Yes, it has because man has his constant enemies 

d. No, it has not because man is a powerful creature 



5. "It" refers to ------- (5tb paragraph, 2nd line) 

;Ja. Too many people 

b. Schools 

c. Hospitals 

d. Many problems 

.6. Why is pure water becoming scarce in many areas ? 

a. Because there is no rain all years 

b. Because man uses too much pure water 

c. Because the dry season last long 

d. Because much water is polluted 

c. Evaluation question. 

1. What should the Government •·.do to make the village 

people prefer staying in the village than in the 

city ? 
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APPENDIX. XX 

Lesson Plan 

Field o! the Study Language 

Sub-field o! the Study • English . 
Topic . Reading . 
Sub-topic • Reading passage . 

about "Too Many 

People Means Too 

Many Problems" 

Class • I SHU . 
Time • 45 minutes . 

I. General Instructional Objective. 

Students are able to comprehend and interprete the 

content of the reading passage through observation, 

interpretation, and application. 

II. Specific Instructional Objectives. 

1. Students ·are able to answer three factual 

questions. 

2. Students are able to answer six inferential 

questions. 

3. Students are able to answer one evaluation 

questions. 
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III. Hatel"ial. 

Too Ma~ People Means Too Many Problems 

Man has not lived an easy lite. Famine, disease, 

harsh climate, and wars have been his constant enemies. 

Yet, he surv:iYes .. - Through the year he has learned to 

control some o! his surroundings and to make use ot 

nature. He has even round ways to keep people alive much 

longer than before. 

~. However, as the number odd people increase, so 

man's problems grow. Too many people means too little 

!ood. Today, at least hal! of the world's population 

does not have enough !ood to eat. 

Too many people means that pure water is becoming 

scarce in many areas. Without water people can not live 

or grow crops. People have wasted much water and they havt 

caused pollution to the rivers and lacks which supply theY 

with the water they need. 

Too many people means too little food, because 

the growth of the population means that people will~need 

more .. and more soil to produce food. They will also need 

more and more land on which to build their houses. 

Too many people means the overcrowding of schools 

and hospitals. It also means more unemployment. 

In short, too many people means too many problems. 

Man has to work hard to solve the problrms of overpopula­

tion if he wants to have good food, clothing and housing, 

and good medical care and schools. 
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A list of Vocabulary. 

- Climate : iklim-iklim 

- Famine 

(noun) 

(noun) : kekurangan pangan, 

kelaparan 

- Growth (noun) pertumbuhan • , 
- Overcrowding (noun) • kepadatan • 

- Pure (adjective) bersih ; asli 

- Scarce (adjective) Hard to get 

- Surroundings (noun) 

- Survives (verb) 

- Unemployment (noun) 

:~lingkungl!n 

: bertahan 

pengangguran 

IV. Teaching Learning Activities. 

penambahan 

langka 

Teacher's activities Students' activities 

115 

1. Greet the students. ~. Give response to greeti~ 

2. Reads the whole passage ... ;~. Lrsten to the teacher. 

once. 

3. Discusses new difficult ;. Give response to teacher 

words found in the passag. 

4. Asks students to read the.4 Read the passage silent~ 

passage silently. 

5. Asks students to do the ~. Do the evaluation. 

evaluation. 

V. Teaching Aids. 

1. Hand out 

2. Copied paper 

3. Blackboard 

4. Chalk 



VI • Methods. 

1. Discussion 

2. Self finding 

3. Giving tasks 

4. Pre-reading activities 

VII • Schedule. 

1. Discussing the picture with a set 

or pre-questions 10 minutes 

2. Reading the passage and dtscusses 

about new difficult words. 15 minutes 

3. Answering questions. 20 minutes 
_ ... .., ........... -~ ... 

Total 45 minutes 

VIII • Reference. 

Penuntun Pelajaran Bahasa Inggris untuk SMU kelas 

dlehdM. Simatupang and Djoko Kentjono. 

IX • Evaluation. 

a • Factual questions. 

1. What things have made man's life difficult ? 

i..2. How can man survive in lif.e ? 

3. Why do some people say that too many people 

means too many problems ? 

b • Inferential questions. 

1. What does the reading passage talk about ? 

a. Life is difficult today 
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b. The problems of over population 

c. In order to be able to survive, man has to work 

hard 

d. Most people. do not have food to eat 

2. Because of over population man has created various 

problems. What are they ? 

a. Lack of food and money 

b. Lack of entertainment and friends 

c. Lack o! love and happiness 

d. Lack of food, water, and land 

3. What does this sentence mean ? "Too Many People 

Means Too Many Problems" 

a. If there are few people, many problems will arise 

b. If there are many people, many problems will be 

solved 

c. If population is controlled, many problems will no 

arise 

d. If population is not controlled, many problems 

will not arise 

4. Has life been difficult for man ? 

a. No, it has not because man has no enemies 

b. Yes, it has because man can not control his 

surroundings 

c. Yes, it has because man has his constant enemies. 

d. No, it has not because man is a powerful creature 
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5. "It" refers to ------- (5th paragraph, 2nd line) 

~a. Too many people 

b. Schools 

c. Hospi tala 

d. Many problems 

6. Why is pure water becoming scarce in many areas ? 

a. Because there is no rain all years 

~.-Because man uses toci~m~ch pure water 

c. Because the dry season last long 

d. Because much water is polluted 

c. Evaluation question. 

l. What should the Government'do to make the village 

people prefer staying in the village than in the 

city ? 
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